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DIRECTIONS TO CANDIDATES:

e All questions may be attempted.

e In every question, show all necessary working,

e Marks may not be awarded for careless or badly arranged work,

» Approved silent calculators may be used.

‘s~ The answers to the four questions in this paper are to be returned in separate
bundles clearly marked Question 1, Question 2, etc .

o Each bundle must show the candidate’s computer number.

e Start each question on a new page.

» The questions are not necessarily arranged in order of difficulty. Candidates are
advised to read the whole paper carefully at the start of the examination.

e Unless otherwise stated candidates should leave their answers in simplest exact
form.

Qutcomes to be Asseéssed :

P3 Performs routine arithmetic and algebraic manipulation involving surds, simple
rational expressions and trigonometric identities.
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UESTION ONE (9 Marks)

@

()

©

@

6.84+ 3.93 o
Evaluate m, correct to 4 significant figures.

@ Write 645.83 X 1073 as a decimal number
(i)  Write 3270 000 in scientific notation

4x1077 L )
(iii)  Evaluate e xi0-% Answer in scientific notation

x2y4

Evaluate whenx = 6andy = %

xy3

Use algebraic techniques to express 0.28 as a fraction in simplest terms.
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QUESTION TWO (22 Marks) Start a new page . .
QUESTION THREE (14 Marks)  Start a new page

(a) Expand and simplify the following: (a) Simplify:
' —2at4) - 2 11
) 6-2(a+4)-3a 5 e
.. 1y? 5 @ ¥ 2
@) - (s + ;)
: ’ i} 21 \3 ' .
Gi) 10+ x)(4 — 2%) _ 1 _ (i) Tog 2
) Gx+7NBx=7) — (i) Babc? x 4b X —2¢ 2
' 3
™ (@x+3) 2 o . . 10(pq)? x 20p20q1* \
i) e+ )2+ 6xy +10) ) : (2p643)? x 5p5q
. 0 _
’ Zx—y)
N\ ( Y+x , ' 1
) Factorise: i
@ 6ab — 4ah? : i ‘ 1 ) (b)  Write without fractional or negative indices.
i ala+1)—(a+1)? 1 _ @ p—2 1
iif) 5y —15+4 10xy — 30, 2 } 1
( . , (i) (By+2z): 1
(v) x*—5x—24 1 :
(v) 4a*-9 1
) . ’ . ‘ +f (o) Change to index form.
(vi) 33 —27t : A 2 ' P '
(vi) 8x%+18x—5 1
" , (i) xvx 1
(viii) a® + 64 1 _ _
3
@ -1 | 2 | W e '

Question 4 on next page.
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QUESTION FOUR (10 Marks) ~ Start a new page

(a)  Simplify the following,

. 5x+10y
O Sxzriery : 2
. Bx4+l6xy

. 5a  a?42 )
1 —_—
@ 3 a
o 9a%2-3a-2 _ 3a%-17+10 s
(i) 2a2+9a~5 ' 2a2-11a+5

2

x 3x ]
(@v) + 3

4x2+7x+3 4x+3

END OF PAPER
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